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Solve Multistep Decimal Problems

work backward to solve a multistep

decimal problems.

B8 UNLOCK the Problem &5

Carson spent $15.99 for 2 books and 3 pens. The books cost
$4.95 each. The sales tax on the total purchase was $1.22. Carson
also used a coupon for $0.50 off his purchase. If each pen had
the same cost, how much did each pen cost?
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Read the Problem

What do | need to find?

What information do |
need to use?

Solve the Problem

How will I use the
information?

e Make a flowchart to show the information. Then using inverse operations,
work backward to solve.

+3=

¢ Divide the cost of 3 pens by 3 to find the cost of each pen.

i

lus lus minus equals
Cost of L Cost of P_’ Amount Amount of |€q Total
3 pens 2 books of tax coupon spent
3 X cost of 2 % n _ _
each pen
lus minus minus equals
L Total plus | Amount of Amount Cost of q Cost of
spent coupon of tax 2 books 3 pens
+ — — =

MTR  Engage in discussions on
mathematical thinking
Explain why the amount of

So, the cost of each pen was
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the coupon was added when
you worked backward.

Chapter 7 » Lesson 6 249




Try Another Problem

Last week, Vivian spent a total of $20.00. She spent $9.95 for
tickets to the school fair, $5.95 for food, and the rest for 2 rings
that were on sale at the school fair. If each ring had the same
cost, how much did each ring cost?

Read the Problem

What do I need to find? What information do | How will I use the
need to use? information?

Solve the Problem

So, the cost of each ring was

How can you check your
answer?

250 Florida’s B.E.S.T. Go Math! Grade 5

© Houghton Mifflin Harcourt Publishing Company e Image Credit: ©HMH



